CHAPTER 21 ALTERNATE PROBLEMS

Problem 21.1A

Types of Responsibility Centers and Basis for Evaluation
Listed below are parts of various well-known businesses:

1. The bookstore of Northern Jersey University.

2. The billing department of Rhode Island Life Insurance Co.

3. The Norwalk Factory of Melvin’s Chocolates.

4. The jewelry department of Bloomingdale’s.

5. The gift shop at the Museum of Natural History.

6. The legal department of Sears.

Instructions

a. Indicate whether each part represents an investment center, a profit center (other than an investment center), or a cost center.

b. Briefly explain the criteria that are used in evaluating (1) investment centers, (2) profit center, and (3) cost centers.

Problem 21.2A

Preparing and Using Responsibility Income Statements

Brown Enterprises has two product lines: bags and shoes.  Cost and revenue data for each product line for the current month are as follows:


Product Lines


Bags
Shoes


Sales

$1,000,000
$500,000


Variable costs as a percentage of sales

60%
30%


Fixed costs traceable to product lines

$250,000
$275,000

In addition to the costs shown above, the company incurs monthly fixed costs of $75,000 common to both product lines.

Instructions

a. Prepare Brown Enterprises’ responsibility income statement for the current month.  Report the responsibility margin for each product line and income from operations for the company as a whole.  Also include columns showing all dollar amounts as percentages of sales.

b. Assume that a marketing survey shows that a $50,000 monthly advertising campaign focused on either product line should increase that product line’s monthly sales by approximately $100,000.  Do you recommend this additional advertising for either or both product lines?  Show computations to support your conclusions.

c. Management is considering expanding one of the company’s two product lines.  An investment of a given dollar amount is expected to increase the sales of the expanded product line by $250,000.  It is also expected to increase the traceable fixed costs of the expanded product line by 60%.  Based on this information, which product line do you recommend expanding?  Explain the basis for your conclusions.

Problem 21.3A

Preparing and Using a Responsibility Income Statement

The Robinns Company is organized into two divisions: Deluxe and Standard.  During August, sales for the Deluxe Division totaled $2,000,0000, and its contribution margin ratio averaged 35%.  Sales generated by the Standard Division totaled $1,200,000 and its contribution margin ratio averaged 50%.  Monthly fixed costs traceable to each division total $200,000.  Common fixed costs for the month amount to $100,000.

Instructions

a. Prepare Robinns Company’s responsibility income statement for the current month.  Be certain to report responsibility margin for each division and income from operations for the company as a whole.  Also include columns showing all dollar amounts as percentages of sales.

b. Compute the dollar sales volume required for the Standard Division to earn a monthly responsibility margin of $600,000.

c. A marketing study indicates that sales in the Standard Division would increase by 4% if advertising expenditures for the division were increased by $12,000 per month.  Would you recommend this increase in advertising?  Show computations to support your decision.

Problem 21.4A

Preparing Responsibility Income Statement in a Responsibility Accounting System

Freeze, Inc. sells air conditioners.  The company has two sales territories, Northern and Southern.  Two products are sold in each territory: Economy and Efficiency.


During January, the following data are reported for the Northern territory:


Economy
Efficiency


Sales

$500,000
$1,000,000


Contribution margin ratios

70%
30%


Traceable fixed costs

$  90,000
$   200,000

Common fixed costs in the Northern territory amounted to $125,000 during the month.


During January, the Southern territory reported total sales of $800,000, variable costs of $352,000, and a responsibility margin of $250,000.  Freeze also incurred $140,000 of common fixed costs that were not traceable to either sales territory.


In addition to being profit centers, each territory is also evaluated as an investment center.  Average assets utilized by the Northern and Southern territories amount to $16,000,000 and $10,000,000 respectively.

Instructions

a. Prepare the January income statement for the Northern territory by product line.  Include columns showing percentages as well as dollar amounts.

b. Prepare the January income statement for the company showing profits by sales territories.  Conclude your statement with income from operations for the company and with responsibility margins for the two territories.  Show percentages as well as dollar amounts.

c. Compute the rate of return on average assets earned in each sales territory during the month of January.

d. If part a, your income statement for the Northern territory included $125,000 in common fixed costs.  What happened to these common fixed costs in the responsibility income statements shown in part b?

e. The manager of the Northern territory is authorized to spend an additional $40,000 per month in advertising one of the products.  Based on past experience, the manager estimates that additional advertising would increase the sales of either product by $100,000.  On which product should the manager focus this advertising campaign?  Explain.

f. Top management is considering investing several million dollars to expand operations in one of its two sales territories.  The expansion would increase traceable fixed costs to expanded territory in proportion to its increase in sales.  Which territory would be the best candidate for this investment?  Explain.

Problem 21.5A

Analysis of Responsibility Income Statements

Shown below are responsibility income statements for Sotheby, Inc., for the month of June.

	
	Investment Centers

	
	Sotheby Inc.
	Division 1
	Division 2

	
	Dollars
	%
	Dollars
	%
	Dollars
	%

	Sales

	$500,000
	100
	$340,000
	100
	$160,000
	100

	Variable costs

	  302,000
	  60
	  238,000
	  70
	   64,000
	  40

	Contribution margin

	198
	40
	102,000
	30
	96,000
	60

	Fixed costs traceable to 

  divisions

	132
	  26
	   68,000
	  20
	   64,000
	  40

	Division responsibility

  margins

	66
	13
	   34,000
	  10
	   32,000
	  20

	Common fixed costs

	  46
	   9
	
	
	
	

	Income from operations

	  20
	   4
	
	
	
	

	
	Profit Centers

	
	Division 1
	Product C
	Product D

	
	Dollars
	%
	Dollars
	%
	Dollars
	%

	Sales

	$340,000
	100
	$120,000
	100
	$220,000
	100

	Variable costs

	  238,000
	  70
	   60,000
	  50
	  178,000
	  81

	Contribution margin

	102,000
	30
	60,000
	50
	42,000
	19

	Fixed costs traceable to

  products

	   48,000
	  14
	   28,000
	  23
	   20,000
	   9

	Product responsibility 

  margins

	54,000
	16
	   32,000
	  27
	   22,000
	  10

	Common fixed costs

	   20,000
	   6
	
	
	
	

	Responsibility margin for 

  division

	   34,000
	 10
	
	
	
	


Instructions

a. The company plans to initiate an advertising campaign for one of the two products in Division 1.  The campaign would cost $8,000 per month and is expected to increase the sales of whichever product is advertised by $25,000 per month.  Compute the expected increase in the responsibility margin of Division 1 assuming that (1) product C is advertised and (2) product D is advertised.

b. Assume that the sales of both products by Division 1 are equal to total manufacturing capacity.  To increase sales of either product, the company must increase manufacturing facilities, which means an increase in traceable fixed costs in approximate proportion to the expected increase in sales.  In this case, which product line would you recommend expanding?  Explain.

c. The income statement for Division 1 includes $20,000 in common fixed costs.  What happens to these fixed costs in the income statements for Sotheby, Inc.?

d. Assume that in November the monthly sales in Division 2 increase to $200,000.  Compute the expected effect of this change on the operating income of the company (assume no other changes in revenue or cost behavior).

e. Prepare an income statement for Sotheby, Inc., by division, under the assumption stated In part d.  Organize this income statement in the format illustrated above, including columns for percentages.

Problem 21.6A

Evaluating an Unprofitable Business Center

Foot B, inc. is a small manufacturer of professional football equipment.  The company has two divisions: the Pad Division and the Helmet Division.  Data for the month of June are as follows:


Profit Centers


Entire
Pad
Helmet


Company
Division
Division


Sales

$70,000
$30,0000
$40,000


Variable costs

  30,000
  15,000
  15,000

Contribution margins

$40,000
$15,000
$25,000


Traceable fixed costs

  30,000
  18,000
  12,000

Division responsibility margins

$10,000
$(3,000)
$13,000

Common fixed costs

   4,000

Monthly operating income

$  6,000
Jacques, the company’s chief financial officer since June 1 of the current year, wants to close the unprofitable Pad Division.  He believes that doing so will benefit Foot B and benefit him, given that his end-of-year bonus is to be based on the company’s overall operating income.  In a recent interview, Jacques summarized his business philosophy as follows:  “A company is only as strong as its least profitable segment.  As long as I’m at the financial helm, only the strongest shall survive at Foot B.”

Instructions

a. Had the Pad Division been closed on January 1, what would the company’s operating income for the month have been?

b. After learning about Jacque’s business philosophy, the Pad Division’s director of marketing made the following statement: “Jacques may understand numbers, but he doesn’t understand the complementary relationship between pads and helmets, nor the seasonal nature of our business.”  What did the director of marketing mean by this statement?  How might such information influence Jacque’s assessment of the company’s Pad Division?

c. By how much would the Pad Division’s monthly sales have to increase for it to generate a positive responsibility margin of $2,000 in any given month?  Show all your computations.

Problem 21.7A

Transfer Pricing Decisions

Eastrise Corporation has two divisions: the Motor Division and the Mower Division.  The Motor Division supplies the motors used by the Mower Division.  The Mower Division produces approximately 10,000 mowers annually.  Thus it receives 10,000 motors from the Motor Division each year.  The market price of these motors is $400.  Their total variable cost is $220 per unit.  The market price of the mower is $600.  The unit variable cost of each mower, excluding the cost of the motor, is $100.


The Motor Division is currently operating at full capacity, producing 30,000 motors per year (10,000 of which are transferred to the Mower Division).  The demand for the motors is so great that all 30,000 units could be sold to outside customers if the Mower Division acquired its motors elsewhere.  The Motor Division uses the full market price of $400 as the transfer price charged to the Mower Division.


The manager of the Mower Division asserts that the Motor Division benefits from the inter-company transfers because of reduced advertising costs.  Thus he wants to negotiate a lower transfer price of $380 per unit.

Instructions

a. Compute the contribution margin earned annually by each division and by the company as a whole using the current transfer price.

b. Compute the contribution margin that would be earned annually by each division by the company as a whole if the discounted transfer price were used.

c. What issues and concerns should be considered in setting a transfer price for intercompany transfers of motors?

Problem 21.8A

Variable Costing

Billgot Corporation manufactures and sells a single product.  The following costs were incurred during 2002, the company’s first year of operations:


Variable costs per unit:



Direct materials

$20



Direct labor

10



Variable manufacturing overhead

4



Variable selling and administrative expenses

8


Fixed costs for the year:



Manufacturing overhead

$1,000,000



Selling and administrative expenses

200,000

During the year, the company manufactured 100,000 units, of which 80,000 were sold at a price of $80 per unit.  The 20,000 units in inventory at year-end were all finished goods.

Instructions

a. Assuming that the company uses full costing:

1. Determine the per-unit cost of each finished good manufactured during 2002.

2. Prepare a partial income statement for the year, ending with income from operations.

b. Assuming that the company uses variable costing:

1. Determine the per-unit cost of each finished good manufactured during 2002.

2. Prepare a partial income statement for the year, ending with income from operations.

c. Explain why your income statements in parts a and b result in different amounts of income from operations.  Indicate which costing approach is used in published financial statements, and briefly explain the usefulness of the other approach.

d. Using the data contained in the variable costing income statement, compute (1) the contribution margin per unit sold and (2) the unit sales volume that must be manufactured and sold annually for Billgot Corporation to break even.
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